b

6

MF BREERIREHA TS ERA RS




WIESE P AR ERIRG AR ERARE

Ve

% # M - BT By ¥ B i & & W E
EERfE 2,330,700 + 35,677 2,366, 377
EEABE 2,330, 700
EERE 35, 677
Z Ot R 2,330,700 x 53.85% ( 35% =+ (1 — 35%) ) 1,255, 081
RBIRM 2,366,377 + 1,255,081 3,621,458
—REEEE 3,621,458 x 53.85% (35% = (1 — 35%) ) — 1,613 1,948, 542
EHMmE 3,621,458 + 1,948 542 5,570, 000
HEREELE 5,570,000 x 10.00% 557, 000
E3 EHEE 5,570,000 + 557,000 6, 127, 000
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B R 2,366, 377
FHE - B%E - HEFEB 2,366, 377
BEHEERAEES 2,366, 377
RIERAEERE 2,330, 700
EEES 433, 500
1 EHE#(E 1.00 433, 500 433, 500
=
RIBFEERET 880, 500
2 BERNEER 1.00 270, 700 270, 700
=
S RRAFROEE 1.00 255, 900 255, 900
=
4 REBEREHEOBKRE 1.00 353,900 353, 900
=
(23 453, 700
5 MEEMER 1.00 453, 700 453,700
=
g - |E 563, 000
6 EaTiHE 1.00 121, 800 121, 800
=]
T hEHE 2.00 121, 800 243, 600
=]
8 RRHME 1.00 197, 600 197, 600
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EEEE 35, 677
EHERARE 17,677
9 EBRAMRE 1.00 17,677 17,677
=
(23 18, 000
10 #HHER 1.00 18,000 18, 000
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4 [z K - wikTiE B H = B £ ] W E i &
HAmE
A 1.00 75, 800. 00 75, 800
F EHEm (BREH)
A 1.50 64, 800. 00 97,200
HEm (A)
A 2.50 57,000.00 142,500
HEm (B)
A 2.50 47, 200.00 118,000
& Hi YEZEREH - 1.00=K 433, 500.00 433,500
=F:2
2 ERURERE ® (1K)
% L3 R - wikTiE =-Riv] H = B & £ W E i &
HEm (A)
A 1.50 57,000. 00 85,500
HEm (B)
A 2.50 47, 200. 00 118,000
Hifi&
A 2.00 33, 600. 00 67,200
& g YEZEREH - 1.00=K 270, 700. 00 270, 700
&5 :3
2% REATROERTE ® (1K)
£ [z K - mikTiE =-Riv] H = B € % W E i &
F{EHREm (BREH)
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.50 57,000. 00 85,500
HEm (B)
A 0.00 47, 200. 00 0
HEm (C)
A 1.00 38, 400. 00 38,400
Hifi&
A 2.00 33, 600. 00 67,200
& g YEZEREH - 1.00=K 255, 900. 00 255,900
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£ REAEHBEOREH ® (1K)
£ Lz R - mikTiE =R = B @ %8 W E i &
EXE353: G H))
A 1.50 64, 800. 00 97,200
HEn (A)
A 1.50 57,000.00 85,500
HEn (B)
A 2.00 47, 200. 00 94,400
HEn (C)
A 2.00 38, 400. 00 76, 800
Hifi&
A 0.00 33, 600. 00 0
& B YEEREH - 1.00=K 353, 900. 00 353, 900
&5 :5
&% RESER 1LY
£ [z R - ikTiE =R = B @ % W OE i &
F EHEm (BREH)
A 1.50 64, 800. 00 97,200
HEn (A)
A 2.50 57,000.00 142,500
HEn (B)
A 2.50 47, 200. 00 118,000
HEn (C)
A 2.50 38, 400. 00 96, 000
& Hi YEZEREH - 1.00=K 453, 700. 00 453, 700
ES:6
&% BAHE EED)
£ [z R - ikTiE =-Riv] = B @ % W E i &
F EHEm (BREH)
A 1.00 64, 800. 00 64, 800
HEn (A)
A 1.00 57,000.00 57,000
& Hi YEZEREH - 1.00[ 121, 800. 00 121,800
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A 1.00 64, 800. 00 64, 800
HEn (A)
A 1.00 57,000.00 57,000
& g YEZEREH - 1.00[ 121, 800. 00 121,800
&5 :8
£ R¥RBE HEED)
£ [z R - ikTiE =R = B @ % i &
HAmE
A 1.00 75, 800.00 75, 800
F EHEm (BREH)
A 1.00 64, 800. 00 64, 800
HEn (A)
A 1.00 57,000.00 57,000
& Hi YEZEREH - 1.00[ 197, 600. 00 197,600
&5 :9
&% BHALE 1KLY
£ [z R - ikTiE =R = B @ % i &
EHARE
=® 1.00 17,677.00 17,671
& g YEZEREH - 1.00=K 17,677.00 17,671
&S :10
&% EBRERR 1KLY
4 [z K - ikTiE =R = B @ % i &
EBXRRRE
=® 1.00 18,000. 00 18,000
& Hi YEZREH - 1.00=K 18,000. 00 18,000




